Calculus Section 4.5 Integration by Substitution

-Use a change of variables to find an indefinite integral

Homework: page 301 #'s 5-17 odd,
23, 25, 33-41 odd, 79

Integration by substitution is the way to integrate a function whose derivative involved the chain rule.
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Antidifferentiation of a Compaosite Function (U-Substitution)

Or, if you allow u = g(x), then du = g'(x)dx and

The key to solving any u-substitution problem is to look for a u-function whose will
match up with other parts of the function. We’re trying to simplify each integrand into something that we've
seen before and already know how to take the integral of using the integral “power rule.”
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